SP-1/Chemistry-CC-IA/GE-1/19

B.Sc. 1st Semester (General) Examination, 2019
Subject : Chemistry
Paper : CC-IA/GE-I
Time: 2 Houars Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 2x5=10
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(a) What are the assumptions of Bohr’s Theory?
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(b) Write down electronic configuration of Chromium and state its position in the periodic

table.
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(¢) Aqueous solution of NH,CI is acidic— Explain.

NH,Cl-9% T g¢ Sifes— it Sl

(d) What is called nucleophile? Give one example.
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(e) Why (CHj); CCl prefers to undergo Sy! reaction?
(CH,); CCl @« Syt fRfema wiier (i ?

(f) Which one is more stable — %{3 and CED:F3 and why?
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(2) 2-Butene is more stable than 1-Butene — Explain.
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(h) Calculate the oxidation number of each chlorine atom in Ca(OCl) Cl.

Ca(OCI) Cl @Ieol el @i 2Rz er=el s fify aa |

2. Answer any two questions: 5%2=10
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(a) (i) Derive an expression for the energy of an electron rotating in a circular orbit of

a H-atom.
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(i) Mention the significance of azimuthal and megnetic quantum number.  3+2=5
M 8RR (PIAFBIN AT w2y Srara 3 |
(b) (i) Explain the Lux-Flood theory of acid-base.
H-FIC SIFTe-FIaT ©eb U1 |
3+2=5

(ii) Define electron affinity and electronegativity.
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(c) Write threo- 2, 3-dibromobutane in Fischer and Newman representation. Is this compound

optically active? Give reasons for your answer.
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(d) (i) Write notes on Wurtz reaction.
il eTedt — eoter fRifgFa
(i) How can you convert Ethylene to Acetylene?
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3. Answer any two questions: 10x2=20
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(a) (i) Write a short note on pauling’s exclusion principle and Hund’s rule.
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(i1) Write about the position of H-atom in the Periodic Table.
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(i11) Write the characteristics of Hard-acid and Soft-acid.
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(242)+2+(2+2)=10
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(b) (1) Balance the following chemical equations by ion electron method.
FeSO.+ K,Cr,0, + H.S, —> Fe, (SOy); + Cr, (SOY; + H,0
P+ NaOH + H,O —> PH;+ NaH,PO,

(1) Briefly discuss the variation of ionisation potential along
the Periodic Table.
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(111) Write two important characteristics of d—block elements.

d-3=F Mool 2 ewesd & @l (3+3)4+2+2=10

(¢) (1) What is ozonolysis reaction? What are the advantages of this reaction? An alkene

on ozonolysis affords 2 molecules of acetone. Identify the alkene and write its name
and structure.
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(i1) Write the products with mechanism of the ozonolysis reaction of acetylene.
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(2+2+3)+3=10

the period and group in

(d) (i) State Markonikoff's rule with suitable example.
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(ii) Which one between ethylene and acetylene is more acidic and why?
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(iii) How will you distinguish chemically between 1-butyne and 2-butyne?

TRTeIE STt 1-RO5EH ¢ 2-REiREe Wi N F9=?

(iv) Write the products of the following reaction.
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CH;—CH=CH, —( 5 ? 3+3+2+2=10
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